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PART A (¥ )

1. From the following trial balance of Sant Ram, prepare
Trading and Profit & Loss Account for the year ending
31st March, 2006 and Balance Sheet as on that date
after making the adjustments given below :

Dr.(Rs.) Cr.(Rs.)

Capital : —  1,81,000
Drawings 36,000 —
Plant & Machinery :

Balance as on 1.4.05 1,20,000 - .

Additions on 1.10.05 25,000 —
Stock on 1-4-2005 95,000 —
Purchases 7,82,000 —
Returns Inward ' 12,000 —
Sundry Debtors _ 20,600 —
Furmiture and Fixtures . 15,000 —
Freight and Duty 2,000 —
Carriage Outward 560 —
Rent, Rates & Taxes 24,000 —_
Printing and Stattonery 4,400 —
Trade Expenses 5,000 —
Sundry Creditors — 38,000

Sales — 980,000
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Returns Outward

Postage and Telegrams
Provision for Doubtful Debts
Discount

Rent of Premises sub-let for the
year upto 30th Sept., 2006

Salaries Outstanding
Insui'ance Charges
Salaries and Wages

Cash and Bank

Adjustments :

— 3,000
1,200 —

— 400

— 1,800

— 7,200

— 2,000

2,500 —
31,500 —
36,700 —
12,13,400 12,13,400

(i) Stock on 31st March, 2006 was valued at

Rs. 94,600.

(i} Write off Rs. 600 as bad debts.

(ii)) The provision for doubtful debts is to be

maintained at 5% on sundry debtors.

(iv) Create a provision for discount on debtors and

reserve for discount on creditors at 2%.

(v) Provide for depreciation on furniture and
fixtures at 5% p.a. and plant and machinery at

20% p.a.

P.T.O.
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(vi) Insurance unexpired was Rs. 100.

(vii) Stock of Rs. 5,000 was destroyed by fire. It
was fully insured and the insurance company
admitted the claim in full.

waew & Feaffae @9 wdswr ¥ 31 W 2006 S wT
o8 & fov =R sk 9w @ e ok sk AR Re e

. TR w S S B 9 I8 a0E S geT o
dar SR

T (g) ™ (%)
kel —  1,81,000
FET 36,000 —
w43 3R Y 1.4.05 w0 I * 1,20,000 -

1.10.05 =t s 25,000 —_
1-4-2005 | wiH 95,000 —
wle 782,000 -
s qud 12,000 —
fefau Imer 20,600 —
TR IR fhae 15,000 —
wET FR TR 2,000 —
EERIELD 500 —_
fraan, IuER 3T H 24,000 —
T S Rad 4,400 —

=RE = 5,000 —_



553

ffau FEr

et

b ATH

T ® AR W

SR w7 % e waue
LT

30 ey, 2006 7 af & fom
Jufrae w2 wr wRar - o
IEET I

A TR

T IR HEd
IHT IR 9%

T -

— 38000
— 980,000

— 3000

1,200 —

— 400

— 1,800

— 7200

— 2000

2,500 —
31,500 —
36,700 —
12,13,400 12,13,400

(i) 31 %, 2006 F wWH B TAT— 94,600 €
(ii) 600 & MR o1 w1 TG |
(iii) ffae R W 5% N A AR wW B waTE

C L LT I | ]

(iv) R * T 92 W WAUE 3R IR W 2% W

2 B fag smewr )

(v) ®R R frr @ fw 5% affs & ® = @k
Waa R Tl @ Bw 20% s w Emmo

P.T.O.
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(vi) 3@ €hm - 100 =

(vii) 5000 & =1 Wi T { A B T AT W DG

2. (a)

(b)

(c)

(=)

o R A R Y T e Wer = R

Explain any two of the following ratio and show
how they are computed :

(i) Current Ratio
(ii) Debtors Turn over Ratio
(iit) Proprietory Ratio
Compute the amount of gross profit and sales if
Opening Stock — Rs. 60,000; Closing Stock —

Rs. 1,00,000; stock turn over rate — 8 times and
goods are sold at profit of 20% on sales.

X Ltd. has a Current Ratio of 4:1 and its Liquid
Ratio is 3:1. If its inventory is Rs. 36,000, find
out the value of Total current assets, Total quick
assets and Total current liabilities.

e 4 & B @ et &t W Fifsw @ik
femry & S 59 vor e fam o 2
(i) = s

(i) ¥R ImEd FO

(iii) @R IS
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(@) aRPrE 2w — 60,000
afm =fw - 1,00,000 ®
Rl A W - 8 T
W A B W 20% TN W I T T A9 I
sl <t T T AT AR )

(1) X Ltd. =1 91 FP9T 4:1 I e g 3:1.3 0 AR
IqR WA g 36,000 T 7 A HA =] wRgukrn, 7
e REaiEl A g A Jaenst T Ao A Ao ¢

3. The following is the Receipts and Payments Account
of the Bombay Club for the year ending December

31, 2002.

Receipts Rs. | Payments Rs.

To Balance b/d 300 | By Rent 5200

To Entrance Fees 550-| By Stationery,

To Subscriptions : Expenses Etc. "3,068
2001 200 By wages 5,330.
2002 16,900 By Billiards Table 3,900
2003 300 17,400 | By Repairs and

To Locker Rents 500 | Renewals 806

To Special By Interest 1,500
subscriptions for ‘By Balance c/d 2,396
Govemor'’s party 3,450

22,200 22,200

P.T.O.
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Locker rents, Rs. 60, referred to 2001 and Rs. 90 is
stili owing; Rent Rs. 1,300, pertained to 2001 and
Rs. 1,300 is still owing; Stationery Expenses,
etc., Rs. 312 related to 2001, still owing Rs. 364;
Subscriptions unpaid for 2002 Rs. 868; Special
subscriptions for Governor’s party outstanding Rs. 550.

The club owned sports materials of the value
Rs. 16,000 on Ist January, 2002. This was valued at '
Rs. 13,500 on 31st December, 2002. The club took a
loan of Rs. 20,000 in 2001.

Prepare the Income and Expenditure Account for 2002
and Balance Sheet as at December 31, 2002.

A Ferg o 3] fEer, 2002 F ww af @ fao wie sk
aH o el 2

Wit ¥ | WA T
N FET 300 | frman 5,200
WA IR 550 | R9=a amfe
T W T 3,068
2001 200 LEE 5330
2002 16,900 Rfcd Tt 3,900
2003 300 | 17,400 | wow 3R et 806
Wit famar 500 | =t 1,500
NFR & e B I FTN 2,396
foe fRew == 3,450
22,200 22200
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2001 & R oo R 60 & 3k 90 & andt 3 B
1300 = Frr 2001 w71 # 3k 1300 7 ot 2 ¥ ; R
afz == 2001 & 312 & 3@ S 364 ® W F; 2002 F
JEI A 868 ®; WA F UG @ A fAEw war 550 ®
qEET # |

oo ® T 1 wEEd, 2002 16,000 T AW w1 WY
WA A1 31 REE, 2002 F @ TEA 13,500 © T

T FEE W 2001 ¥ 20,000 % w1 w0l fw

2002 ® fore 3@ 3 =@ s 31 REw 2002 R g
73 durR e )

Following are the.summarised Balance Shects of a

4.

Limited Co. as at March 31, 2004 and March 31,
2005 - C ‘
Liabilities ‘ 3 31 | Assets k)| 3t

March §  March . March | March

2004 2005 2004 2005

Rs. Rs, Rs. Rs.

Sundry Creditors | 39,010 | 41,135 | Cash at Bank 3,000 2,700
Bills Payable 33,780 | 11,525 | Sundry Debtors 85175 | 72625

Bank Overdraft 60,000 NIL | Sundry Advances 2,315 735

Provision for

Income tax 40,000 | 49,000 | Stock 109,040 | 97370

Reserves 48000 [ 50000 | Land & Buildings | 148,000 |1,54,250

Profit and Plant &

Loss A/C 39690 | 41,220 | Machinery 1,12,950 §1,16,200

Share capital 2,00,000 | 2,60,000 | Good will NL 9,000
‘ | 4,60480 | 4,52,880 460480 |4,52,880

P.T.O.
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. Additional information is as under :

(i) An interim dividend of Rs. 26,000 and a
final dividend of Rs. 54,000 were paid during
2004-05.

(i} The assets of another company were purchased
for Rs. 60,000 payable in fully paid shares
of the company. The assets purchased
comprised of stock : Rs. 22,000, and Machinery :
Rs. 29,000.

(iii) Additional plant purchased worth Rs. 6,000,

(iv) Depreciation provided during the current year :
Land & Building — Rs. 3,750,
Plant & Machinery — Rs. 12,000.

{v} Income Tax paid during the year Rs. 30,000.

You are required to prepare the Funds Flow Statement
and a Statement of changes in working capital for the

year ending on 31 March, 20035.

v fRRE Tl & 31 WM, 2004 3R 31 WE, 2005 =
wadga g v Pl 2
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T 31| 3t | ofeaufat 31 3
LiE LLE] o LIC]
20040 2005 2004 | 2005
® L3 L L3
fRfty or=r 39010 41,135 | F5 ¥ s 3000 | 2700
7 fRa 33,780 11,525 [ Rfaw Iwem ] 8575 | 72625
o AW IR | 60000 [T A | Ffdy Jwwh 2315 75
SR WEUF | 40000 49,000 | @i 1,09,040 | 97370
FRET 28000 50000| W 3R e | 148,000 | 1,54.250
a9 3k w3 IR
ELE RG] 39690 | 41,220 | Wi 1,12,950 | 1,16,200
LR .| 2,00,000 | 2,60,000 | =0l O W | 9000
: 4,60,480 | 4,52,880 460,480 4,52,880
ST =T

(i} 2004-05 = = 26,000 & w aRa W sk
54,000 = =1 faw o ded frar

(ii) v s S & ReefEl T D T gew VR
W 2 60,000 & & forw @0E 0¥ | WIS 7 qReahREy
¥ 22,000 & W ®E IR 29,000 T = WY WA

Uil

(iii) 6,000 = it whoma +r afaRew w77 wher wv

- {iv) o 9f ¥ wew e R sk waw - 3,750 ®©
qEA AR wEE - 12,000 ®

P.T.O.
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(v) af & 29 do9 JEw 30,000 ©

AR 31 A, 2005 = wd N 2 e A v fawo
IR FRANT Toir ¥ wRed= gt dar wew 3

5. (a) State with reasons, how would you classify the
following items of expenditure (Capital/Revenue/
Deferred Revenue Expenditure):

(i) Overhauling expenses of Rs. 25,000 for the
engine of a motor car to get better fuel
efficiency.

(ii) Inauguration expenses of Rs. 25 lakh incurred
on the opening of a new manufacturing unit
in an existing business.

(iii) Compensation of Rs. 2.5 crore paid to

workers who opted for voluntary retirement.

(b) Write short notes on any two of the following:
(1) Contingent Liability
(i) Sub-division of Journal
(iii) Convention of Materiality
(%) = 3| TN AR Be o oo A Feafafae w@ @
G /A =G/ St waed = ¥ e st
Eﬂ'ﬁ@‘a w4
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(i) Fem fo= Frlegmar W @ B fw AewEw D
e & fow 25,000 = = s S @

(ii) v foa s A v = Rl @E ary
FH W IR 25 9 % w1 I @ |

(iii)éﬁaa%mﬁgﬁrﬁ%mﬁasmn?faﬁ_m 2.5
HAT T W AR

(@ )ﬁm%%a%%ﬁﬁﬁa’rwmwﬁﬁaq

(i) st 2gan

(i} S+ =1 IwEs

(iii) *Merran - aRad

PART B (w1 o)

6. 100 cases of Tea were consigned by ‘A’ of Delhi to
‘B’ of Jaipur Costing Rs. 5000 per case invoiced at
20% above cost. Freight and other charges paid by
the consignor were Rs. 31,000.

‘B’ sells 70 cases @ Rs. 7000 per case. His expenses
were Rs. 10,000, Out of the remaining cases 20 cases
were damaged due to bad packing and they could be
sold only @ Rs. 3000 per case.

P.T.0O.
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‘B’ is entitled to a commission of 5% on sale including
del credre commission. A customer who purchased 5
cases became insolvent and only 60% of the price

could be recovered from him.

Prepare necessary accounts in the books of both the
parties assuming that ‘B’ made final payment by

cheque.

fo=tt = AWW%B-ﬁ 5000 T W & T N
100 ¥ T FRE W 20% ¥ IR AE 0 NG 5 T

31,000 T = 9T TAT FA N D & ¥ WS B WA
oy wam

B 70 %A 7000/4#%%3&31%3-&“@%10,000-@
wA-fFe 9 3w Afedl ¥ @ 20 9 W T @ wRw
aﬁmﬁtﬂéaﬂtémooawﬁrﬁﬁaﬁamﬁﬁm
& |

B W&l W 5% wWwT = TEer ¢ o smmaeed
FAIT § Whte 21 5 I Wl T oF UEE RaRwar
B T A IEE A W RAW 60% @ age fRmow
| |

7E AR g B B ¥ aifw e 3 7w G @ A aed
N AR A AEEE oW 99R T |
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Good are sent to Branch at 25% profit on cost. Prepare
the necessary ledger accounts in the books of H.Q.
according to Stock and Debtors System from the
following transactions for the year ended on
31.12.2005

_ Rs.
Opening Stock at Branch at Invoice Price 20,000
Goods sent to Branch at Invoice Price - 80,000
Loss in transit at Invoice Price 10,000 -
Pilferage at Invoice Price 4,000
Normal Loss at Invoice Price 2,000
Closing Stock at Invoice Price at Branch 24,000
Sales 1,10,000
Expenses . 16,000

Rupees 6000 was recovered from Insurance company
against loss-in-transit. You are required to calculate
gross as well as net profit.

WE F ARG W 25% o & IR W A SNl o 2 |
31.12.2005 W T a6 ® fg Feffnm -3 ¥ wie
3R IR vef B AR U Wi W ge ¥ s
TR @ dar iR

P.T.O.
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T
AF Ted R I ¥ I Wi 20,000
qAF @ T ARG R WS T WA 80,000
5T Aed W O R g wl 10,000
ANF T W ST 9 4,000
et A W EEE sl 2,000
TRAT W Sl qeW 9T Al whe 24,000
TR 1,10,000
|d ’ 16,000

o ¥ B & g S R ¥ 6000 T aER ¥W 1 9w
T W g a1 Referm wEn #

8. (a) A was carrying on a business as a sole proprietor.
On 1st April 2003, he took B as partner, giving
him 1/4th share of profits. On Ist April, 2004, C
joined the firm as a partner taking 1/10th of the
profits from each partner. On st April, 2605, D
also joined the firm, the new profit sharing ratio
being: A 3/10, B 2/10, C 2/10 and D 3/10.
Goodwill valuations on various dates were as
under :

April 1, 2003 Rs. 20,000
April 1, 2004 Rs. 30,000
April 1, 2005 - Rs. 50,000
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B did not pay for premium when he joined but on
the other time occasions, adjustment in respect of
goodwill was made in cash.

State the amounts receivable or payable by the
partners on the various dates.

On the admission of a partner why are assets
and liabilities revalued ? Do you think such
revaluation is necessary if there is change in the
profit sharing ratio ?

(F) A oo @rlt & ¥ F SRER @ A 1 a0, 2003

W IGT B A AN H /4 Bew A g weR v |
1 3, 2004 H C v YRR B w0 X = § wie
B3 3R Iw udw wRleR A @ & 110 Rrana |
aﬁa,zoosaﬁnsﬂﬁ#mﬁagmuaﬁqﬁmm
I FEWIOE JAJIT I WRR W -

A 3/10, B2/10, C2/10 3Rk D 3/10.
Rt el S =Y W T W A

1 3, 2003 20,000 %.
| s, 2004 - 30,000 %
1 3md, 2005 50,000 &

B%mﬁaﬁ%%mﬁlﬁmqﬁﬁmﬁﬁaﬁra
m«mm%ﬁimw@mﬁfmu

=T @it W wierl e/ Wi sreEr g ol TGy

P.T.O.
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(@) weieR @ WRe s W IReeRa R aa@s W
e Tl e wer 2 7 s REm ¥ s W
O TR ¥ RS B W T TR T
s ¢ 7 '

9. The paid-up capital of Toy Ltd. amounted to
Rs. 2,50,000 consisting of 25,000 equity shares of
Rs. 10 each. Due to losses incurred by the company
continuously, the directors of the company prepared a
scheme' for reconstruction which was duly approved
by the court. The terms of reconstruction were as

under :

(i) In lieu of their present holdings, the shareholders
are to receive : {a) fully paid equity shares equal
to 2/5th of their holdings; (b) 5% preference
shares fully paid up to the extent of 20% of the

new equity shares; (¢) 3,000 6% second
debentures of Rs. 10 each.

(i) An issue of 2,500 5% first debentures of
Rs. 10 each was made and fully subscribed in

cash.

(iii) The assets were reduced as follows:
(a) Goodwill from Rs. 1,50,000 to Rs. 75,000

(b} Machinery from Rs. 50,000 to Rs. 37,500
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(c) Leasehold premises from Rs. 75,000 to
Rs. 62,500

Show the journal entries to give effect to the above

scheme of reconstruction.

Toy Ltd. ¥ we= Yot 2,50,000 & & fod 10 & wWR I
& 25,000 S TR F 1 FFN TN ATER B IS AW
w® F & Ry A Rl Ao = frew
M B TG AFAET W B |

TRl &t WS T WER 9

(i) I T R R B T W S @ (%)
FE HRW B 2/5 B R 0 v Feadt R (@)
¢ FREE IR D 20% 9% T wed 5% AR
TR (W) 10 & 9y T =3 @ 3000, 6% BT Hwr

EEN

(i} 10 & 9 =W 13 & 2500, 5% 990 HO T W0
fae I 3R yfa: Fwe sfe= 8 W

(iii) wRaufal @ waR e .
(=) =i - 1,50,000 & & 75,000 &
(w@) W’ - 50,000 % ¥ 37,500 ¥
(@) vEEpa TRE 75,000 € X 62,500 %
T 9 Iried Aw W e W=y R By v
wiaftedt fewme
P.T.O.
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10. Write short notes on any four of the following :
(i) Capital Redemption Reserve Account
(ii) Depreciation and its causes
(iii) Del-credere Commission
(iv) Limitations of single entry system
(v) AS-14: Amalgamation in the nature of merger
e ¥ ¥ &l 9r W S Rudd fafe
(i) It wfderr smewr Ay
(i) TerEE® IR oD HRW
(iiii) SrEETES W
(iv) Toed wRRe vef W TRy
(v) AS-14: fawaw & w0 ¥ woiieT

{200)***‘&




